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NIz K £ NET HDCP TOTAL OuUT IN OUT NET Iz K 4 NET HDCP TOTAL ouUT N OUT NET

B wrm 69 29 98 ( 48 50 ) 335 BB LT 62 19 81 (40 41 ) 305
20 RAK EE 69 9 78 ( 4 37 ) 36.5 260 EE E— 65 16 81 (41 40 ) 33.0
3 W& BASE 70 9 79 ( 40 39 ) 355 3 AT Ft 68 15 83 ( 40 43 ) 325
46 MHEE 70 28 98 ( 52 46 ) 38.0 46 I EBH 68 8 76 (39 37 ) 35.0
5 A EE 70 26 96 (51 45 ) 380 5 AEEA F= 70 18 88 (44 44 ) 350
6 BAR T 72 11 83 ( 36 47 ) 30.5 646 ¥ IEA 70 19 89 ( 46 43 ) 36.5
T A A 72 20 92 (47 45 ) 370 7 FEE B= 71 15 86 (42 44 ) 345
8 W ME 73 11 84 ( 42 42 ) 36.5 8L ik &R 71 14 856 ( 42 43 ) 35.0
ofr T B 73 13 86 ( 43 43 ) 365 O EBIE ERT 71 30 101 ( 50 51 ) 850
1067 @A X¥ 74 5 79 (40 39 ) 375 1060 itE sk 71 17 88 (44 44 ) 355
116 BAR —B 75 13 88 ( 46 42 ) 395 1162 &R Ei 71 13 84 ( 42 42 ) 3b.5
1260 BEA B=E 76 16 92 (42 50 ) 340 1260 At 5B 71 4 75 (38 37 ) 360
1360 B3 B8 76 17 93 (47 46 ) 385 13 &M 7% 71 15 86 ( 44 42 ) 365
14 R g 76 27 103 ( 54 49 ) 405 1467 175k BB% 71 14 85 ( 45 40 ) 380
1667 ik i 77 12 89 (43 46 ) 370 166 #4823 71 18 89 (47 42 ) 380
20k AR %S 78 15 93 (48 45 ) 405 200 TEE 73 18 91 (45 46 ) 360
250 B3 BE 80 22 102 ( 50 52 ) 390 250 AR WM 74 27 101 ( 51 50 ) 875
30h  EHM AIE 81 14 95 ( 45 50 ) 380 30f B B— 75 9 84 (41 43 ) 365
35hr Al EBE 81 14 95 (49 46 ) 420 35hr 4k BE 76 18 94 (46 48 ) 370
406 ER B4 83 17 100 (48 52 ) 395 4061 K —% 77 21 98 (51 47 ) 405
4546  EEE 87 16 103 ( 57 46 ) 49.0 4546 =H TE 78 23 101 ( b5 46 ) 435
50k RS EE 80 10 90 (46 44 ) 410
604z IF &= 83 16 99 ( 53 46 ) 450
700 & 87 30 117 (60 57 ) 450
BBE Af7TH IEBA 93 27 120 (61 59 ) 475 BBE #HFHIEA 88 18 106 (b2 54 ) 43.0
BGHE L 75 (3 37 ) Par 72 A—AL—k  RA=TL—h

Bit(F) 6606 vyard 713 128

Bi(BR) 6237 vyard 69.5 123

Bit(4) 5892  yard 68.1 119

BEiE(%) 5,281 yard 64.9 114

LM(%) 5281  yard 70.1 123

ZEGR) 4,878  vyard 67.8 119




